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QUESTION 1

What is the role of Kerberos in the Big Data Cloud Service? 

A. It allows for encryption of HDFS data at rest and Data in Motion. 

B. It provides support for fine-grained, role-based authorization over Hive metadata. 

C. It provides a secured Network Firewall to restrict Big Data Cloud Service access from external hosts. 

D. It ensures the identity of users and services communicating over the network. 

Correct Answer: D 

 

QUESTION 2

Which three statements are true about Whitelists? 

A. It is a list of all approved, enabled clusters. 

B. It is used to filter network traffic to services in the cluster. 

C. It specifies if clients for specific services on specific ports are denied access. 

D. It is list of clusters accessible to you. 

E. It is an index of approved entities. 

Correct Answer: BCD 

Reference: https://docs.oracle.com/cloud-machine/latest/bigdatacm/CSBDM/GUID-4DC086BF-
DBB943A0-BE0D-1CCBED87BEB4.htm#CSBDM-GUID-4DC086BF-DBB9-43A0-BE0D-1CCBED87BEB4 

 

QUESTION 3

When you create a cluster, how many permanent nodes must you have before you can have edge nodes? 

A. One 

B. Two 

C. Five 

D. Four 

E. Three 

Correct Answer: D 

Reference: https://docs.oracle.com/en/cloud/paas/big-data-cloud/csbdi/add-nodes-cluster.html#GUIDB6EDF7FB-
A94A-4356-AF5E-C9307721F772 
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QUESTION 4

Which three pluggable schedulers are supported by YARN? 

A. First in First Out 

B. Last In First Out 

C. Capacity Scheduler 

D. Timed Scheduler 

E. Fair Scheduler 

Correct Answer: ACE 

Reference: https://www.cloudera.com/documentation/enterprise/5-8-x/topics/admin_schedulers.html 

 

QUESTION 5

Which function CANNOT be performed using Sentry? 

A. ability to give users access to a subset of data 

B. ability to create OS users and control access on data for OS users 

C. ability to control access to data and/or privileges on that data for authenticated users 

D. ability to create/apply template-based privileges based on functional roles 

Correct Answer: D 
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